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Correct Marks: 2 WrongMarks: 0



Peer group interaction in a classroom helps in

(1) Concept understanding
(2) Realization of One's misunderstanding
(3) Rapport Building
(4) Questioning
Options:
64635093139, 1
64635093140, 2

64535093141, 3
645350393142, 4

Question Number : 1 Question Id : 64635023729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535093139, 1
64535033140 2
64835092141, =2
64535092142, 4

Question Number : 2 Question Id : 64635023730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When the learning outcomes of students are ensured with employment of less resources and
effort on the part of a teacher and more imitiative for self-learning 15 evident, which of the

following expression will describe the teacher most appropriately?

(1) Teacher 1s successful (2) Teacher is effective
(3) Teacher is intelligent (4) Teacher 1s practical
Options:

64535093142 1
E4E35093144. 2
E4535093145. 3
64535093146, 4



Question Number : 2 Question Id : 64635023730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535093143, 1
645350393144, 2
64535093145, 3
E4E3509314E6. 4

Question Number : 3 Question Id : 64635023731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reflective Practice implies use of one’s

(1) Cognition (2) Metacognition
(3) Metacognition on cognition (4) Renforcement of learning
Options:

645350393147, 1
645350931458, 2
E4E35093149. 3
E4E350923150. 4

Question Number : 3 Question Id : 64635023731 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535093147, 1
645350393148, 2
64535093149, 3
E4E35093150. 4

Question Number : 4 Question Id : 64635023732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Inclusive education implies

(1) Ensuring learning outcome of every child to be the same
2 Including the disabled in the main stream

(3) Provides compulsory education for children below 14 years
(4) Ensuring that no child is left behind in education

Options:

64535093151, 1
64535092152, 2
64535033153 =
64535033154 4

Question Number : 4 Question Id : 64635023732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

quraeh e @ e 2

() =2 gHfT=a # % yoie d== &A™ qaitom o 2 |

@  FwEdl @ gE am 3 i FE

(3) 14 99 ¥ FH 39 F =i *I AR @ e

(4) ¥z ghffea w1 fF #iE s fuen d dis A @ s
Options:
C4E25E092151.
64635093152,

E4535093153.
54535093154,
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Question Number : 5 Question Id : 64635023733 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Listening is important for a teacher to

(1) address the requurement of the learner

(2) gain knowledge

(3) keep the learner in good humour

(4) evaluate the learner for the progress made
Options:

645350931551
645350393156, 2
E4E350393157. 3
E4535093158. 4

Question Number : 5 Question Id : 64635023733 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535093155, 1
64535033156, 2
64835092157, 2
4535092158 4

Question Number : 6 Question Id : 64635023734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A hypothesis should be conceptually

(1) convoluted, complex and generic (2) complex, tough and general
(3) simple, clear and specific (4) obscure, complicated and simple
Options:

64535093155, 1
64535093160, 2
645350393161, 3
64535093162, 4

Question Number : 6 Question Id : 64635023734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535093155, 1
645350393160, 2
64535093161, 3
EAEZ5093162. 4

Question Number : 7 Question Id : 64635023735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



During research, while recording observations if an observer rates an individual based on
the rating given in another aspect of the interaction, this 1s termed as the

(1) Evaluation effect (2) Error of central tendency
(3) Halo effect (4) Categorical effect
Options:

645350393163, 1
64535093164, 2
E4E350393165. 3
E4E35093166. 4

Question Number : 7 Question Id : 64635023735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E4535093163. 1
64535093164, 2
645350393165, 3
64535093166, 4

Question Number : 8 Question Id : 64635023736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The study of ‘why does stressful living result in heart attack’? Can be classified as

(1) Descriptive research (2y Explanatory research
(3) Correlational research (4) Feasibility research
Options:

64535093167, 1
E4E350393168. 2
E4535093169. 3
64535093170, 4

Question Number : 8 Question Id : 64635023736 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35093167. 1
64535093168, 2
645350931645, 3
64535093170, 4

Question Number : 9 Question Id : 64635023737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The formulation of a research problem can be compared to

(1) Laying the foundation of a building (2) Bulding the walls of a home
(3) Polishing the doors of a building (4) Constructing the ceiling of a house

Options:

4535093171, 1
64535092172 2
64535033173 2
64535033174, 4

Question Number : 9 Question Id : 64635023737 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535093171, 1
645350393172 2
645350393173, 3
E4E35093174. 4

Question Number : 10 Question Id : 64635023738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mailed questionnaire, observation, interview and collective questionnaire are instances of

(1) Secondary sources (2) Personal sources
(3) Primary sources (4) Tertiary sources
Options:

645350931751
645350393176, 2
64535093177, 3
EAE35093178. 4

Question Number : 10 Question Id : 64635023738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350921751
64535092176, 2
64535092177, 5
64535033178, 4

Sub-Section Number: 2
Sub-Section Id: 6463501171
Question Shuffling Allowed : Yes

Question Id : 64635023739 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

A business will usually go through a clear set of stages that will make up 1ts orgamsational
life cycle. These stages include introduction, early growth, continuous growth, maturity and
decline. The first stage, the introduction stage, i1z the start-up phase where a business
decides what its core strengths and capabilities are and starts selling its product or service.
At this early stage, the founder or founders will be a part of every aspect of the daily process
of the business. The main goal at this stage is to take off to a good start and make a place in
the market.

The next stage, the early growth phase, aims at increased sales and more development. The
focus at this stage remains on the original product or service but the effort 1s to increase the
market share and venture into related products or services. The main goal is to move the
founder to a more managerial role so more time is spent on managing and building the
business. At this stage, documents and policies need to be developed so any member of the
organisation can see the business any time.

The third stage, the continuous growth stage, requires a systematic structure and more
formal relationships among its participants. At this stage, the resource requirements of the
business need careful handling. The focus 18 on the expansion of the business, keeping in
mind its core strength and capability. A formal organisational structure and a clear
delegation plan are important at this stage.

At the fourth stage of maturity, a business often slows down as the level of innovative energy
may have become weak and the formal structures may have become obstacles. A lot of care 1s
required to prevent decline.

Sub questions

Question Number : 11 Question Id : 64635023740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When will a business create its place in the market?

(1) At maturity (2) At introduction
(3) At early growth (4) At late growth
Options:

E4E35093175. 1
E4E35093180. 2
E4E35093181. 3
64535093182, 4

Question Number : 12 Question Id : 64635023741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The founder of a business does not move to a more managerial role at which stage?

(1) Early growth stage (2) Maturity stage
(3) Decline stage (4) Start up stage
Options:

645350393183, 1
E4E350393184. 2
E4E35093185. 3
E4E35093186. 4

Question Number : 13 Question Id : 64635023742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Venturing into related products and services does not mean that a business will

(1) 1gnore the original product

(2) move the founder to a more managerial role
(3) delegate more responsibilities

(4) ignore the related products and services

Options:

4535093187, 1
645350392188, 2
64535033189, =
64535033190, 4

Question Number : 14 Question Id : 64635023743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The resource requirements of a business need careful handling at which stage?

(1) Fourth (2) First
(3) Third (4) Second
Options:

E4E35092191. 1
E4E350931392. 2
645350931583, 3
645350931394, 4

Question Number : 15 Question Id : 64635023744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The slowing down of a business can happen if,

(1) there is a decline in the market share
(2) the level of innovative energy weakens
(3) the managerial roles are not clear

(4) the level of investment declines

Options:

64535093195, 1
E4E35092196. 2
64535092197, 5
64535092198, 4

Question Id : 64635023739 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
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Sub questions

Question Number : 11 Question Id : 64635023740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535093179,
64535093180,
4835092181,
4535092182,
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Question Number : 12 Question Id : 64635023741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535093183, 1
4835092134, 2
E4E35092185. =2
645350921586, 4

Question Number : 13 Question Id : 64635023742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535093187, 1
645350392188, 2
64535033189, =
64535033190, 4

Question Number : 14 Question Id : 64635023743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35092191. 1
E4E350931392. 2
645350931583, 3
645350931394, 4

Question Number : 15 Question Id : 64635023744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“HIAE | Hel 21 A%l & afe

(1) aFE % S § fwee @

(2)  AAFIE IS O FESER U S
@)  wegdhiE YR T2 A F

@) e @ e 9 |

Options:

64535093195, 1
64535092196, 2
64535092197, 5
64535033198, 4

Sub-Section Number: 3
Sub-Section Id: 6463501172
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635023745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Semantic barrier of communication 1s implied when the

(1) signal is lost before reaching the receiver

(2) message transmitted by the source 1s unclear

(3) receiver's attention is diverted

(4) receiver does not understand the meaning of the message
Options:

64535093199, 1
E4E35093200. 2
E4E35093201. 3
BAE35093202. 4

Question Number : 16 Question Id : 64635023745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535093199, 1
4835092200 2
E4E35092201. 2
64535092202, 4

Question Number : 17 Question Id : 64635023746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following signifies non-verbal communication in an essential way?

(1) Instructions written on a question paper

(2) Learner attending an online class

(3) The dress code followed by an individual

(4) Yoga instructor teaching yoga poses to the pupils

Options:
4350393203 1

E4E35093204. 2
E4E350393205. 3
EAE35093206. 4

Question Number : 17 Question Id : 64635023746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E4E25093203. 1

EAE350393204. 2
E4535093205. 3
BAE35093206. 4



Question Number : 18 Question Id : 64635023747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asszertion (A) : Communication presupposes a shared, symbolic environment, a social
relationship even among non-participants

Reason (R): It leads to social interaction, which in combination with other factors
contributes to a sense of community.

Choose the correct option given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R is not the correct explanation of A
(3) (A) 1g true but (R) 1s false

(4) (A) 1s false but (R) is true
Options:
646350932071
4350932208, 2
E4EZE092209. 2
4235092210, 4

Question Number : 18 Question Id : 64635023747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535093207, 1
E4E35092208. 2
E4535092209. 5
64535092210 4

Question Number : 19 Question Id : 64635023748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a stage of intrapersonal communication?

(1) Phatic stage

(2) Intimate stage

(3) Personal stage

(4) Transcendental communication

Options:
64535093211, 1

E4E35093212. 2
E4E35093213. 3
64535093214, 4

Question Number : 19 Question Id : 64635023748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35093211. 1
BAE35093212. 2
64535093213, 3
64535093214, 4

Question Number : 20 Question Id : 64635023749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a characteristic of modern mass media?

(1) Capital intensive (2) Labour intensive
(3) Sustainable (4) Developmental
Options:

64535093215, 1
645350393216, 2
64535093217, 3
EAEZ50932158. 4



Question Number : 20 Question Id : 64635023749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535093215, 1
E4E35093216. 2
EAE350393217. 3
B4E5350932158. 4

Question Number : 21 Question Id : 64635023750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If RED 1s coded as 6720, then how would GREEN be coded?

(1) 16717209 (2) 1677209
(3) 9207716 (4) 1677199
Options:

64535093215, 1
64535093220, 2
645350393221, 3
EABE35093222. 4

Question Number : 21 Question Id : 64635023750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afg RED #1 gz wmt | 6720 foman 5@, d@t GREEN &t fora wahn geag foran smom ?

(1) 16717209 (2) 1677209
(3) 9207716 4) 1677199
Options:

64535093219, 1
EAE35093220. 2
B4E35093221. 3
BAE35093222. 4



Question Number : 22 Question Id : 64635023751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If 0.75 2 = 0.02 y, then the value of [T_x] is

Y+ X
73 75
1 = oy e
@ 75 @ T
73 730
3 —= |t
(3) = (4) 75
Options:

B4E35093223. 1
BAE35093224. 2
64535093225, 3
E453509322E6. 4

Question Number : 22 Question Id : 64635023751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535093223, 1
64535033224, 2
64835092225 2
4535092226, 4

Question Number : 23 Question Id : 64635023752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the average of five numbers 18 —20 and the sum of three of the numbers 15 32, then what 1s
the average of the other two numbers?

(1) 66 (2) 33
(3 34 4 -132
Options:

64535093227, 1
EAE35093228. 2
EAE35093229. 3



EAE35093230. 4

Question Number : 23 Question Id : 64635023752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe gie STl 1 SAida —20 2, A7 FH 8§ fF et & 9 32 #, 91 999 &1 Gl # AEd 3491
27

1 66 (2) -33
@ -84 @ -132
Options:

64535093227, 1
E4535093228. 2
EAEZ5093229. 3
BAE35093230. 4

Question Number : 24 Question Id : 64635023753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A man travelled from the village to the railway station at the rate of 20 Kmph and walked
back at the rate of 5 kmph. If the whole journey took 5 hours, find the distance of the raillway
station from the village.

(1) 10 km (2) 15km
@) 20km (4) 40 km
Options:

64535093231, 1
64535093232, 2
E4E350393233. 3
EAE35093234. 4

Question Number : 24 Question Id : 64635023753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F1E =Afqa ma & Iag €29H F A 20 kmph 81 F Far 2 au a9y 5 kmph # 20 & e 21 3@
=Y AT H 3 5 uE W 2, o M ¥ td 22w i gft wma fifsig |

(1) 10km (2 15km
(3) 20 km (4) 40 km

Options:

64535093231 1

E4EZ5033232. 2

E4E2503325335. 3

64535033234 4

Question Number : 25 Question Id : 64635023754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A trader mixes three varieties of refined oil costing Rs. 100, Rs. 40 and Rs. 60 per litre in the
ratio 2 : 4 : 3 in terms of litre, and sells the mixture at Rs. 66 per litre. What percentage of
profit does he make?

(1) 12% (2) 10%
(3) 9% 4) 8%
Options:

645350393235, 1
E4E35093236. 2
EAE35093237. 3
EAE35093238. 4

Question Number : 25 Question Id : 64635023754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s M 100 &., 40 & a9 60 . ufd e i ara gt 7 9wR & {iwEee ad & e & 1g |
2:4:3 Fud # e 2 A 3u feor #9166 &, ufa ofier i g & S=ar 21 30 feaq wfowa &1 amw

g1 27
(1) 12% (2 10%
(3) 9% @) 8%

Options:

64535093235, 1
64535033236, 2
64535033237, 2
E4E35092238. 4

Question Number : 26 Question Id : 64635023755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

No Musicians are Japenese
All Barbers are Musicians

No Barbers are Japenese
Identify the Middle Term in the above syllogism

(1) Subject in the first premise and predicate in the second premise
(2) Predicate in the first premise and subject in the second premise
(3) Predicate in the both premises

(4) Subject in both the premises

Options:



EAE35093239. 1
64535093240, 2
64535093241, 3
645350393242, 4

Question Number : 26 Question Id : 64635023755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FIS TR ST 2 2 |
aaft A1 wfiaen £
F13 A8 S A 2 |
IE{F rared | "eAus 6l ugee i
(1) 92 19r a&g J Fdl A1 gt e a | a9
(2)  UEe A9R aEd i e ot gul enaw A o i
(3)  2Fi wnar aEdl d faga
(4)  @FT A19E FEEl H Fi

Options:

64535093239, 1
E4E35092240. 2
4535092241, 2
64535022242, 4

Question Number : 27 Question Id : 64635023756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from

(1) Unuversal to Particul ar
(2) Particular to Universal
(3) Universal to Universal

(4) Particular to Particul ar

Options:

64535093243, 1
E4E350392244 2
64535092245, 5
64535092246, 4



Question Number : 27 Question Id : 64635023756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HANTHATHS o (8 78 399 21 27

(1)  =ewtfEs o fafsmee
(2)  fafve o geEwims

@)  adifEe & o
(4)  fafse o fafsw

Options:
E4E35093243 1

E4E35093244. 2
E4E35093245. 3
EAE35093246. 4

Question Number : 28 Question Id : 64635023757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the five friends, Vineet 1s taller than Momka, but not as tall as Ram. Jacob 1s taller
than Dalip but shorter than Monika. Who is the tallest in their group?

(1) Ram

(2) Monika

(3) Vineet

(4) Jacob
Options:

E4E35093247. 1
64535093248, 2
645350393249, 3
645350393250, 4

Question Number : 28 Question Id : 64635023757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ™

@ =
(3) ferdia
CV

Options:

64835093247, 1
E4E35092248. 2
64535092249, 5
64535092250 4

Question Number : 29 Question Id : 64635023758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the example given below :
Devadatta i1s growing fat.
He does not eat food during the day.
Therefore, He must be eating food during the night, other things being equal.

Identify the logic invelved in the example provided above by choosing the correct answer
from options given below :

(1) Arthapatti (2) Anupalabdi
(3) Anumana (4) Sabda
Options:

E4E35093251. 1
B4E35093252. 2
B4535093253. 3
645350393254, 4

Question Number : 29 Question Id : 64635023758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=1 fou sgrem w foEm i
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oe fea o g 421 | 2
T,
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Options:
64535092251, 1

EAE35093252. 2
B4535093253. 3
64535093254, 4

Question Number : 30 Question Id : 64635023759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :

“Sound 1s permanent because it 1s a product hike the jar”.

Identify the fallacy involved in the above argument on the basis of Indian logic from the
options given below.

(1) Fallacy of contradictory reason (2) Fallacy of wrong assertion
(3) Fallacy of irrelevant reason (4) Fallacy of trivial reason
Options:

645350393255, 1
E4E35093256. 2
EAE35093257. 3
E4E35093258. 4

Question Number : 30 Question Id : 64635023759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fi=1 fau @ o femm Hifsg
e curlt & HdifE 98 s i @E A I E,
A= w71y, forepcedi @ WA deh < SArar 9t 3udad a H [iza amean i gg=e fifs;

(1)  faame aF arer garys (2) HaE ANFE ¥ SR gayE
(3)  AWAg T B gATHN (4) q=8 9% B U
Options:

64535093255, 1
64535093256, 2
64535093257, 3
EAEZ5093258. 4

Sub-Section Number: 4
Sub-Section 1d: 6463501173
Question Shuffling Allowed : Yes

Question Id : 64635023760 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension

Consider the following table that shows the production of fertilizers by a company (n 10000
tonnes) during the year 2011 to 2018.

Answer the questions based on the data contained i1n the table :

Year : 2011 | 2012 | 20183 | 2014 | 2015 | 2016 | 2017 | 2018
Production of Fertilizers : 35 50 70 55 = 60 85 90
Sub questions

Question Number : 31 Question Id : 64635023761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In how many of the given yvears was the production of fertilizers more than the average
production of the given years?

€ 2 2) 8
@3 4 @ 5
Options:

E4535093259. 1
64535093260, 2



EAE35093261. 3
BAE35093262. 4

Question Number : 32 Question Id : 64635023762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the percentage decline in the production of fertilizers from 2013 to 20147

(1)  20.4% (2) 21.4%
3)  22.6% @) 24.2%
Options:

E4E35093263. 1
64535093264, 2
645350393265, 3
E453509326E. 4

Question Number : 33 Question Id : 64635023763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the approximate percentage increase in production of fertilizers in 2018 compared
to that in 20117

(1) 157% 2) 165%
(3) 177% 4) 182%
Options:

64535093267, 1
64535093268, 2
64535093269, 3
EAEZ5093270. 4

Question Number : 34 Question Id : 64635023764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year, the percentage increase 1n production as compared to the previous vear was
maximum?

(1) 2012 (2) 2013
(3) 2015 (4) 2018
Options:

645350932711
E4E35093272. 2
EAEZ5093273. 3
EAE35093274. 4

Question Number : 35 Question Id : 64635023765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The average production of 2012 and 2013 was exactly equal to the average production of
which of the following pairs of vears?

(1) 2011 and 2012
(2) 2011 and 2017
(3) 2012 and 2014
(4) 2015 and 2016

Options:

648350932751
E4E35092276. 2
64535093277, 5
645350923278, 4

Question Id : 64635023760 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

f=fcfiga arfaen w femm Sifse, St ad 2011 - 2018 @ sfte &9 % 39 I9EA (10000 27) I g9riarn
2

ay 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

33TH FI IEA a5 50 70 55 75 60 85 90

Sub questions

Question Number : 31 Question Id : 64635023761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feu mu fera &Nt § 3R 1 3cq1eq fu o ant & e Icaed o Afeew ar?

(2 & a8
(3) 4 @ 5

Options:

64535093259, 1
64535033260, 2
64535033261, 2
4835092262 4

Question Number : 32 Question Id : 64635023762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2013 % 2014 9% 34T F 3c9eA H Tora gfavia Trmae i ?

(1)  20.4 vfas@ (2) 21.4 gfdwE
(3) 22.6 Ffawrd (4) 24.2 yfawE

Options:

64535093263, 1
4535092264, 2
64535093265, 5
4535092266, 4

Question Number : 33 Question Id : 64635023763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 2018 <1 g1 | A 2011 § 36Tl + IeUreT | gig = wfdera s e on?

(1) 157% (2) 165%
(3) 177% (4) 182%

Options:

64535093267, 1
483503932268, 2
4535092269 2
645350923270, 4

Question Number : 34 Question Id : 64635023764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore = 4 3carga | gfg @ ufdwd fea ara $i gamn d safteras or?

(1) 2012 (2) 2013
(3) 2015 4 2018

Options:

64535093271, 1
64535033272 2
483503922732 2
4535092274 4

Question Number : 35 Question Id : 64635023765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFeferfiga awl % gra | O fror Sdd 3caed | 2012 R 2013 % iHd IemeA & faoge gam ar?

() 2011 @R 2012
(2 2011 R 2017
(3) 2012 %N 2014
4 2015 #N 2016

Options:

64535093275, 1
64535033276, 2
64535033277, 2
E4E35092278. 4

Sub-Section Number: 5
Sub-Section 1d: 6463501174
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635023766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following :
Set I Set 11
(a) First Generation (1) Transistor
(b) Second Generation (11) VLSI microprocessor
(c) Third Generation (1) Vacuum tube
() Fourth Generation (1v) Integrated circuit

Select the correct option from the following :

(a) (b) (© (d)

(1 @) ) @ (11)
@ () (1) av) (11)
3 () (1) (1) ()
@ @ (i11) @) (i1)
Options:
64635093279, 1

EAE35093280. 2
EAE35093281. 3



EAE35093282. 4

Question Number : 36 Question Id : 64635023766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feffiga =+ gafaa fifsw
e ol e - 10
(@ s @ glisteet
b  fedi did (i) al Ut U 15 WIS

(€ g e (iii) IHH 2
(d)  =neft figt (iv) zémfez ufdz
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(a) (b) ©) (d)

@ ) av) @) (1)
@ @ @ (1v) (1)
@ @) @ 1) av)
@ o (111) (1v) (1)

Options:
E4EZE093279.

EAEZ5093280.
EAE35093281.
BAE35093282,

[ N

Question Number : 37 Question Id : 64635023767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
One TeraByte (TB) of memory is equal to

(1) 1024 KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x 1024 KB
4) 1024 x 1024 x 1024 Bytes

Options:



EAE35093283. 1
B4E535093284. 2
64535093285, 3
64535093286, 4

Question Number : 37 Question Id : 64635023767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U aEEe (TB) 99 feas aqH 27

(1) 1024KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x1024 KB
(4 1024 x 1024 %1024 Bytes

Options:
E4E2E095283. 1

EAE350393284. 2
E4E35093285. 3
EAE35093286. 4

Question Number : 38 Question Id : 64635023768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A/An 18 a computer program that spreads by inserting copies of itgelf into other
executable code or documents.

(1) Operating System (2) Computer Virus
(3) Firewall (4 Anti-virus
Options:

EAE35093287. 1
B4E535093288. 2
B4E535093289. 3
645350393230, 4

Question Number : 38 Question Id : 64635023768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535093287, 1
4835092288 2
4535092289 2
64535022290, 4

Question Number : 39 Question Id : 64635023769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Audio and Video compression, the term RGE means

(1) Red, Grey, Blue (2) Red, Green, Blue
(3) Red, Green, Black (4) Red, Grey, Black
Options:

6453503932391, 1
E4535093232. 2
E4E350932393. 3
EAE35093294. 4

Question Number : 39 Question Id : 64635023769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Atz «dh difzdr Fvw & ROB 1 wAfiuy 2

(1) &, 4, s (2) &, ¥H,sq
(3) g, i1, =iF 4) g, 7, =i

Options:

4535093291, 1
64535093292, 2
64535033293 =
64535033294 4

Question Number : 40 Question Id : 64635023770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s not a’an web browser?

(1) Internet Explorer (2) Mozilla Firefox
(3) (Google chrome (4) Yahoo
Options:

E4E350932585. 1
EAE3503932396. 2
BAE35093297. 3



EAE350932398. 4

Question Number : 40 Question Id : 64635023770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F=fafiaa | 9+ a9 J1Een A8 27
(1) 326z = (2) HIRTAT $PR FiaE
(3) T B @ IR

Options:

64535093295, 1
64535033296, 2
64535033297, 2
E4E35092298. 4

Question Number : 41 Question Id : 64635023771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for generating power from wind energy by the vear
2022 is

(1) 60 GW (2) HB0GW
(3) 40 GW 4) 15GW
Options:

645350932595, 1
645350393200, 2
645350393301, 3
E4E350393302. 4

Question Number : 41 Question Id : 64635023771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 2022 a4 95 Fo01 U foeTel 3001 F1 % ol Ui 50RE A 9491 aey Haifia frar 27

(1) 60 GW (2) 50GW
(3) 40 GW @) 15GW

Options:

4535093299, 1
64535092200 2
645350333201, =
64535033302, 4

Question Number : 42 Question Id : 64635023772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which pollutant i1s the major source of marine pollution?

(1) Agricultural run-off
(2) Oil spill

(3) Industrial waste water
(4) Sewage

Options:

E4E35093303. 1
64535022204, 2
64535033205, =
64535033306, 4

Question Number : 42 Question Id : 64635023772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TN TG TG SET ] HelH ST Hi 27
1)  FN AvEE

2 9 fmE

(3)  lenfies s S

4)  dHes

Options:

64535093203, 1
48350923204, 2
4535092205 2
64535092206, 4

Question Number : 43 Question Id : 64635023773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Permafrost 1s defiming characteristic of which biome?

(1)  Taiga (2) Tundra
(3) Grassland (4) Desert
Options:

E4E35093207. 1
64535093208, 2
645350393309, 3
64535093310, 4

Question Number : 43 Question Id : 64635023773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

eI fopm arg <6 fasian <1 saman 27
(1) &m @) T
(3) = % HgH (4) TSR

Options:

&4535093207. 1
64535092208, 2
64535033209, 2
64535033210 4

Question Number : 44 Question Id : 64635023774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The mangroves exist in

(1) Fresh water system (2) Temperate areas
(3) Semi-arid areas (4) Saline waters
Options:

E4E350935311. 1
E4E35093212. 2
E4535093213. 3
64535093214, 4

Question Number : 44 Question Id : 64635023774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fed aEdTd FaEl Hadt 27
(1)  are S gomedt (2) HamET
@) ALY AT (4) @ S

Options:

64635093211, 1
645350333212, 2
64535033213 2
4835092214 4

Question Number : 45 Question Id : 64635023775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chemical oxygen demand in eutrophic water is

(1) Low
(2) High
(3) Medium

(4) Extremely low

Options:

645350933215, 1
48350923216 2
64535092217, 5
64535092218, 4

Question Number : 45 Question Id : 64635023775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Perfeer Sict | Ffbepar waradts <l | St 2-

1 =

(2) I

(3) HETH

(4)  felopet HH

Options:

645350933215, 1
48350923216 2
64535092217, 5
64535092218, 4

Question Number : 46 Question Id : 64635023776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which era given below, ligher education in India got a set back?

(1) British Era (2) Buddhist Era
(3) Mughal Era (4) Post-Independence Era
Options:

64535093319, 1
E4E35093320. 2
B4E350932321. 3
BAE35093322. 4



Question Number : 46 Question Id : 64635023776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= feu U e i | W | R 0 geR e
(1)  fafen == (2) @ig
3) g FA (4) EETEA HA

Options:
452509223191

E4E35093320. 2
B4E350932321. 3
BAE35093322. 4

Question Number : 47 Question Id : 64635023777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which year the modern Indian University got established?

(1) 1957 (2) 1857
(3) 1947 4) 1964
Options:

64535093322, 1
E4E35093324. 2
E4E35093325. 3
BAE35093326. 4

Question Number : 47 Question Id : 64635023777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

g widl feafearra € e fee o | 237

(1) 1957 (2y 1857
(3) 1947 4) 1964
Options:

64535093323, 1
645350393324, 2
64535093325, 3
EAE35093326. 4
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The report of which of the following Education Commissions carries the sub-title Education
for National Development’?

(1) Radhakrishnan Commission
(2) Mudaliar Commission
(3) Calcutta University Education Commission
(4) Kothart Commission
Options:
6463509353271
64635093325, 2
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645350393330, 4
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The expansion of SANKALP 1s,

(1) Sanskrit Awareness and Knowledge Acquisition of Language Programme
(2) Skills Acquisition and Karatae Awareness for Livelithood Promotion

(3) Skills Acquisition and Knowledge Awareness for Livelihood Promotion

(4) Sanskrit Awareness and Knowledge Acquisition for Livelihood Promotion

Options:
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Which of the following statements best explains the concept of sustainable development?

(1) Use of natural resources minimally
(2) Use of natural resources for our benefit
(3) Use of natural resources judiciously o that they are available for future generations
(4) Preserve our natural resources for our future generation
Options:

E4E350935335. 1
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Question Number : 127 Question 1d : 64635023857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SIS SAfE FS B1NAr SRET ]RAT SR A
1 e @ — ST
@ 93 (T — SMHIeE
® fo @ - efsms
(@0 SEES (O — SR

Options:
435033643 1

E4E350393644. 2
E4E350393645. 3
E4E3509364E. 4

Question Number : 128 Question Id : 64635023858 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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Question Number : 129 Question Id : 64635023859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ERIQICE SO S E S ST O b o S I e k] o i
GEN ferg
(sf*19) SGERIRTD

(a)  Haay (i) o O

(b)  *FP (i) 14 (‘F{?\'ﬁ?
(¢) fawag (i) 10 El
(d)  fgemy (iv) 13 (TagRfE
@M
3TN .

() Kay=Lw}; (Bi={ii}; Ley=Lii),; Td}=K1)
@) La)=Liiiyy (bi—{1}, {ed—Civ)y Ld3—Lii)
(g (a)-(ii), (b)={(iv), (ec)-Cii}, (d)-(i)
@ Ca}y=01)s kb)=(ii}; Le)-=Cv}y (d)={Liii}

Options:

64535093651, 1
64535033652, 2
648350928532 =2
4535092854 4

Question Number : 130 Question Id : 64635023860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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FAN forg 1 SeeR oy 0 M veEr @Fmte
o/ | IGER]
CIEEIND (2134T)

(a) Sifee 8 o () RN

(b)  FHe (i) BEagg T

(c) N AT T (i) (56

(d) %ES Ste (v) 5Ea9g I

BIGE]]

(¢

SN .
(y La)=qiiy, Cbhy—{iY, Le)-Cn), (dy-{iii)
@) Lar=dily Lh)={ii}sy fed=(i); {di={i¥)
a Cad=Liii), ChY¥=Lii}, Cel={nl, fd)=Lil
Gl Lalr-=L); (Bl=Lii); (eF=Cik; Ldr=L))
22225593663. 1
64635093664, 2

E4535093665. 3
645350393666, 4

Question Number : 132 Question 1d : 64635023862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 133 Question 1d : 64635023863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(A) : SIFAT WRew HEe (NG I ARk
RO AT (TR |
(R) : (FA1® st NSAT 53T IPpR A
Agwar W 3341 N HOTHE |
STHAH .

® (A) THE, (R) BFF |

@ (A) B, (R) S R |

(3 (A) &, (R) S & |

@ (A) B, (R) Tl |

Options:

64535093679, 1
4835092680, 2
4535092881, 2
64535092682, 4
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Correct Marks: 2 Wrong Marks: 0

(A AEFA RS HFe (NET aEu TRar
RO AT (RITFL |
(R) : (1% st SR 53T IppR IS4
A WF 33AT A HEANE |
RERCIE
W (A) TF, (R) §ET |
@ (A) RPE, (R) ST BT |
3 (A) M, (R) S & |
@ (A) B, (rR) Tl |




Options:

64535093679, 1
4835092620, 2
4535092881, 2
64535092682, 4

Question Number : 137 Question Id : 64635023867 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(A) : (BIPEES TRl N4 Eadm qNay
e AfFA] FfRent Feavefd |
(RY : o @ @Rl NeAN  TResm
SIBEEWS NTGTFA] RGN |
3T .

® (A) T, (R) S A |

@ (A) BFF, (R) ST BRT |
® (A) T, (R) BT |

@ (A) BPE, (R) s |

Options:

64535093683, 1
E4E350926384. 2
4535092685, 5
64535092686, 4

Question Number : 137 Question Id : 64635023867 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(A) : (BIPERST WReS] J3I &Fadm THay
sl SIfgar TRt Feavele |
(R) : @ N J@EE] weNl  SiResw
HIPEEWS AAEEF] HGEA |
REE G

 (A) T, (R) S AT |

@ (A) B, (R) S &R |
® (A) ¥, (R) BT |

@ (A) , (R) & |

Options:

64535093683, 1
E4E350926384. 2
4535092885 2
64535092686, 4

Question Number : 138 Question Id : 64635023868 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
SingleLine Queﬂion Option : No Option Orientation : Vertical

(A ;AT G = ARAT Y3EW
Noafgar (=, MR qem (3F e T
Ul RS |
(R) : 2PRA B9 SRARET O AFT (eTor
QAT (AR S GRS (e 8397 IER
RIS
RERCI

W (A) T, (R) R |

@ (A) B, (R) ST KA |

3 (A) B, (R) 7 |

@ (A) e, (R) 5 ife |

Options:
435093657, 1

3@




EAE3509368E. 2
E4E535093685. 3
64535093630, 4

Question Number : 138 Question 1d : 64635023868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(A) : RS PR CTRIA =W AR YSEW
Mfoafzar @, Nz oM (FFA] e IE]
USR] (BRI |
(R) : PR B SRART ORI 6T (eTor
JNSTF (TP ol P (W 83FT IMER
A |
REREIE

® (A) TfF, (R) BRI |

@ (A) R, (R) ST R |
3 (A) B, (R) ¥ |

@ (A) e, (R) S M |

Options:

4535093687,
64535093688,
64535093689,
48350932690,

[ N N

Question Number : 139 Question Id : 64635023869 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(A) : TFRerRST Werw @AM 83T 83e
ARPIA] (FI3v TAWAT @ |
(R) : Eo FEPET @A (TFI] N
AP FSWAV TR H@ (TN |
3TN

W (A) TE, (R) BT |

@ (A) R, (R) °fd |

® (A) ®MF, (R) S & |

@ (A) B, (R) ST RPFF |

Options:

4635093691, 1
64535092692, 2
64535033693, 2
64535033694, 4
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 146 Question Id : 64635023876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Sub-Section Number: 2
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Question Id : 64635023877 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No
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Question Number : 148 Question Id : 64635023879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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